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1. (15%) A Maclaurin series is a function that has expansion series that gives the sum of derivatives of]
that function. Please write down the first five terms of the Maclaurin series of e* and sin(x),

respectively.
1 2 3 1 1 0
2. (10%) A= (3 2 1) and B = (O 1 O). Find A'B.
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3. (15%) Solve £ + y = x, y(0) = 10.
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4. (10%) Solve ==
5. (15%) Find the general solution to P.D.E u,,, (x,y) = 4y sinx + 2y.

2x, 0sx <1

6. (18%) Find the Fourier series of the following function f(x) = { 0 1ex<?:
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7. (10%) Let the Laplace transform L{f(t)} = F(s) and a > 0, prove that L{f(at)} = %F (Z)

8. (7%) Find the Laplace transform of e%, L{e%} =?

HAAMFHEE B FEREABATAHA





